Study Guide: Multi-Digit Division, Multi-Step e
Expressions, and Measurement Conversion G
Module 2: End of Module Assessment Study Guide
S.0A.1: Use parentheses, brackets, or braces in i ions, and evaluate fons with these symbols.
2.0A.2: Write simple ions that record calcul: with numbers, and interpret numerical expressions without evaluating them.
S.NBT.2: Explain pattems in 2eros and decimal placement of the product when x or umber by powers of 10. Use whole-number exponents to denote powers of 10.
SNBLS: Fluently multiply mult-digit whole numbers (up to three-digit by four-di ) using ies and algori
h partial { i and ize the ion to iplicati
using place value and ion unde ing; check using esti i
ing distances, intervals of time, liquid volumes, masses of objects, and money.

SNBT6: Use equations, rectangular arrays, and/or area models to to divide 4-digit dividends by 2 digit divisors witl
a

-NBT.7: +,-x, + decimals to hund, , using concrete 5/ !
S:MD.1: Convert larger measurement units to a smaller measurement unit & use to solve multi- step real world problems involvi
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2. Express the missing divisors using a power of 10. Explain using a place value chart.
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re meters and a width of 29 meters. What is the length?
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5.  Write an expression that matches 8 + 15 x (14- 8)?
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6.  What division problem does the following area model represent?
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7.  Describe what an accurate array model that represents the division problem 171 = 19 would look like.

The WAy dnould e VL OPRAs
O\Wa\!‘%(o\ oy A vOWSS.

pression can be simplified to find the quotient of 5,375 + 15?

) + (70 + 15) + (5 = 15)
+(300 + 15) + (75 + 15)



